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Bond Failure Mechanism
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6 could be:
Material damage
Effective plastic strain
First principal strain
Maximum shear strain
First principal stress
Maximum shear stress
Maximum tensile pressure
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Fracture due 10
vord formation

B,(x,)=0
J,(x3)#0
B,(x2)=0
D(x,)#0
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PG Failure vs FEM Failure
FEM Failure SPG Failure

Effective plastic strain Effective plastic strain
Criteria Add erosion Add erosion

Mesh dependent Insignificant discretization dependence
Uvon failure Zero stress Regular stress — strain evolution|

P Possible element deletion | Bond failure without element erosion

Momentum | Not conserve&\ Conserved
Mass Might not consexved Conserved
Force Under estimated \ Physical




